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Question Number : 1 Question Id : 321011876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a type of Leukocyte (WBC)?

Options:
1 % Tcells

- % Bcells
= % Plasma cells

4 « Megakaryocytes

Question Number : 1 Question Id : 321011876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 2 Question Id : 321011877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is caused by the infection with Helicobacter pylori?

Options:
, w Hepatitis

- % Rbhinitis



5 o Peptic ulcer

4 % Tuberculosis

Question Number : 2 Question Id : 321011877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 321011878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the drug of choice for infections caused due to anaerobic bacteria?

Options:
1 % Penicillin

- % Amoxicillin

5 % letracycline

4 « Metronidazole

Question Number : 3 Question Id : 321011878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 321011879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IgM and IgG tests are done for the laboratory diagnosis of which disease?

Options:
1 % Malaria

- % Filarial

-  Dengue fever

4 % Amoebiasis

Question Number : 4 Question Id : 321011879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST # ¥ g O & I F [e ga@rEmerer 7 3msshod. (IgM) 3R 3mEshs (1gG) aivefor
T Smar 272

Options:

" Sl W
4 » HAfeaofaw

Question Number : 5 Question Id : 321011880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a sexually transmitted disease (STD)?

Options:
L Dengue fever

- % Filarial



3 « Zika virus infection

, = Chikungunya

Question Number : 5 Question Id : 321011880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 321011881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“ANA” test is done in the diagnosis of which of the following diseases?

Options:
1+« Autoimmune disorders

» % Enteric fever
z % Yellow fever

4 % Jaundice

Question Number : 6 Question Id : 321011881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 321011882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the function of ‘Hageman factor® in the human body?
Options:

, « To stop bleeding

5 # To stop the clotting of blood

- u [Josynthesise WBCs

4 # Todestroy RBCs

Question Number : 7 Question Id : 321011882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 321011883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Heparin’ is a protein synthesised in which organ of the human body?
Options:

, = Spleen

- % DBone marrow



= % Pancreas

4 « Liver

Question Number : 8 Question Id : 321011883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 321011884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
‘Which of the following is a malignant tumor?

Options:
, % Myxoma

- % Chondroma
= % Osteoma

4 + Osteosarcoma

Question Number : 9 Question Id : 321011884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 321011885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Multiple polyposis of intestines is seen in which of the following syndromes?
Options:
2
, « Gardner’s syndrome

> % lumer’s syndrome

- u Gilbert’s syndrome

, % Down’s syndrome

Question Number : 10 Question Id : 321011885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 321011886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Creutzfeldt-Jakob disease is caused due to which of the following microorganisms?
Options:

1 % Bacteria

> ® Fungi



3 « Prions

4 % Viroids

Question Number : 11 Question Id : 321011886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 321011887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an autoimmune disease?

Options:
, = Type 1 Diabetes mellitus

5 of Type 2 Diabetes mellitus

- % Myasthenia Gravis

, w Systemic lupus erythematosus

Question Number : 12 Question Id : 321011887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 321011888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
NK cells are a type of which of the following?

Options:
; ®# RBCs

> % Platelets
= % Neurons

4 « Lymphocytes

Question Number : 13 Question Id : 321011888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 321011889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following hormones reduces the serum calcium levels?

Options:
, w Thyroxine

> % TSH



- u Parathyroid hormone

4 « Calcitonin

Question Number : 14 Question Id : 321011889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 321011890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a pro-biotic bacterium?

Options:
1 % Pseudomonas

-  Saccharomyces
= % Streptococcus

4, = Staphylococcus

Question Number : 15 Question Id : 321011890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 321011891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Serum creatinine is an important indicator for the functioning of which of the following?

Options:
, w Circulatory system

> % Respiratory system

5 o Excretorv system

4 % Nervous system

Question Number : 16 Question Id : 321011891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 321011892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a crystalloid of choice in hypo-volemic shock?
Options:

, w Ringer’s acetate

o o Ringer’s lactate



5 w Ringer’s maltase

4 = Ringer’s cellulose

Question Number : 17 Question Id : 321011892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 321011893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 321011893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pulmonary edema occurs in which of the following organs?

Options:
1. #® Heart

»> % Liver



5 Lung

4 w Kidney

Question Number : 19 Question Id : 321011894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Schizophrenia and Parkinson’s disease affect which of the following organ systems?
Options:

, w Digestive system

5 ® Respiratory system
5 ® Excretorv system

4 Nervous system

Question Number : 19 Question Id : 321011894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 321011895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is the branch of medicine that deals with the study of microorganisms?
Options:

, w FPhysiology

o o Microbiology



- w Pathology

4 % Anatomy

Question Number : 20 Question Id : 321011895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 21 Question Id : 321011896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who discovered electron microscope?

Options:
1 + Knoll and Ruska

- % J. Johnson
=z % A.V. Leewenhock

4 % C.V.Linnaeus

Question Number : 21 Question Id : 321011896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 321011897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a histo-pathological diagnostic aid?

Options:
| % X-ray

o= MRI
= & USG

4 « FNAC

Question Number : 22 Question Id : 321011897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Al
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. x LTEST (USG)

4 v T.TATST. (FNAC)

Question Number : 23 Question Id : 321011898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following involves the post-mortem examination of the body tissues?

Options:
, w DBiopsy

5 o Autopsy



- u Cytology

4 = Surgical pathology

Question Number : 23 Question Id : 321011898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 321011899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of the term ‘hematemesis’?
Options:

, = Clotting of blood

> w Coughing out blood

o « vomiting of blood

, w Blood pressure

Question Number : 24 Question Id : 321011899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 321011900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the technical term used to describe ‘swelling” during the inflammation process?

Options:
1 % Calor

- % Rubor
=z % Dolor

4 « Tumor

Question Number : 25 Question Id : 321011900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 321011901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Angina pectoris is a condition associated with which of the following?

Options:
1 % Brain

5 % Lungs

2 o Heart



4 % Liver

Question Number : 26 Question Id : 321011901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 321011902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following events takes place in apoptosis?
Options:

, w» Programmed tissue growth

- w Programmed cell growth

- « Programmed cell death

4 % Focal cell death

Question Number : 27 Question Id : 321011902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 321011903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following types of necrosis is seen in tuberculosis?

Options:

, w Tatty necrosis

- % Fibrinoid necrosis
= « Central caseous necrosis

4 » Gangrenous necrosis

Question Number : 28 Question Id : 321011903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 321011904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the correct statement about carcinomas?
Options:

, w» Malignant tumors of connective tissues

- % DBenign tumors of connective tissues

-  Malignant tumors of epithelial tissues



, w Benign tumors of epithelial tissues

Question Number : 29 Question Id : 321011904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 321011905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is known as the universal tumor?

Options:
1 % Fibroma

> o Lipoma

% % Neurofibroma

4 % Carcinoma

Question Number : 30 Question Id : 321011905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 321011906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the most common tumor of the oral cavity?

Options:
|+ Squamous cell carcinoma

- % Fibro sarcoma
= % Neuro fibroma

, # Rhabdomyoma

Question Number : 31 Question Id : 321011906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 32 Question Id : 321011907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The malignant tumor of cartilage is known as:

Options:
1 ® Osteosarcoma

- % Lymph sarcoma

% % Chondroma



4 « Chondrosarcoma

Question Number : 32 Question Id : 321011907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 33 Question Id : 321011908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the commonly used tissue fixative in biopsy?

Options:
1 % 1% formalin

> « 10% formalin

5 # 1% glycerol

4 = 10% glycerol

Question Number : 33 Question Id : 321011908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 321011909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the context of hematology. what is the correct full form of ESR?

Options:
, = Erythrocyte Segregation Rate

> u Erythrocyte Settlement Rate

-  Erythrocyte Sedimentation Rate

4 w Erythrocyte Sorting Rate

Question Number : 34 Question Id : 321011909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 35 Question Id : 321011910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How many polypeptide chains are present in an adult’s hemoglobin?
Options:

1 1

2.332



4 ¢ 4

Question Number : 35 Question Id : 321011910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 36 Question Id : 321011911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the chain combinations is correct with regard to the polypeptide chains present in hemoglobin?

Options:
. + Iwo alpha and two beta chains

o ® One alpha and one beta chain

- u Iwo alpha and one beta chain

, % One alpha and two beta chains

Question Number : 36 Question Id : 321011911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 37 Question Id : 321011912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the normal life span of platelets?

Options:
, % S0days

20 days
» 9 days

4 ® 2days

Question Number : 37 Question Id : 321011912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 38 Question Id : 321011913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where do the Platelets originate?
Options:

1« DBomne marrow

5 w Thymus

- % Lymph nodes



4 ® Spleen

Question Number : 38 Question Id : 321011913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TIToT FEl fTed 2 87
Options:
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Question Number : 39 Question Id : 321011914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is known as the ‘graveyard of RBCs™?

Options:
1 % Liver

> % Lymph nodes

5 o Spleen

4 % DBone marrow

Question Number : 39 Question Id : 321011914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % bd
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Question Number : 40 Question Id : 321011915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The cells that synthesise the antibodies are derived from which of the following cells?

Options:
1 + Plasma cells

- % T cells
= # RBCs

4 % Platelets

Question Number : 40 Question Id : 321011915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 41 Question Id : 321011916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following vitamins helps in the coagulation of the blood?

Options:
1 E

o o K

3_5&3



Question Number : 41 Question Id : 321011916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

L % 56

4 % 31 (D)

Question Number : 42 Question Id : 321011917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In, which of the following conditions does the RBC count increase?

Options:
. % Thrombocytosis

> u Leukocytosis

- o Polycythemia

4 % Anaemia

Question Number : 42 Question Id : 321011917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 43 Question Id : 321011918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which term is used for indicating decreased WBC count?

Options:
, = Leukocytosis

5 u Thrombocytosis

- % Polycythemia

4 « Leukopenia

Question Number : 43 Question Id : 321011918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 44 Question Id : 321011919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With reference to the hematological disorders, what is the correct full form of HDNB?

Options:

1 Hemolytic Disorder of New Born

> u Hepatic Disorder of New Born

- % Hemodynamic Disorder of New Born

, = Histolytic Disorder of New Born



Question Number : 44 Question Id : 321011919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 45 Question Id : 321011920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following blood groups is known as the universal acceptor?

Options:
1 ® AB-ve

> & O-ve
= o ABTve

4 & Orve

Question Number : 45 Question Id : 321011920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Talola & ¥ Fe o g & It TEedl & ®7 F A1 AT 87

Options:

. & AB-ve

- # O-ve
2 « AB+ve

4 ® Otve

Question Number : 46 Question Id : 321011921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 46 Question Id : 321011921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is false about O-ve blood group?

Options:
1 % It has both the antibodies A and B

> % It can be given to a person with blood group A

= % It is known as the ‘universal donor’

s It has both the antigens A and B

Question Number : 47 Question Id : 321011922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is used to store the blood?

Options:
1« Sodium citrate

, « KMNOy
. % Casoy

4 % H:S50,

Question Number : 47 Question Id : 321011922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. v HIfETH s

. x KMNOy
. » CaSOy

g W HESO:l

Question Number : 48 Question Id : 321011923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Alexander Fleming prepared the penicillin from which of the following organisms?

Options:
1 % Bacteria

> % Virus
5 Fungus

4 % Protozoa

Question Number : 48 Question Id : 321011923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. FFET (Shar))
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g_ﬁm

2  PorH (eeh)

4 % STSISATAT

Question Number : 49 Question Id : 321011924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Martinus Beijerinck was the scientist credited for which of the following achievements?



Options:
, = Discovery of DNA

- o Discovery of viruses

5 w Discovery of fungus

4, = Discovery of microbes under the microscope

Question Number : 49 Question Id : 321011924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 50 Question Id : 321011925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process that deactivates the microbes but has no effect on the spore formers is known as:

Options:
1 % Sterilisation

- « Disinfection
= % Pasteurisation

4 % Moisture control

Question Number : 50 Question Id : 321011925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 51 Question Id : 321011926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following parts of bacteria helps in attachment with the host cells?

Options:
, » Flagella

> « Fimbriae
%z % Plasmid

4 % Cell membrane

Question Number : 51 Question Id : 321011926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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= % CAleHS
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Question Number : 52 Question Id : 321011927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the most common mode of reproduction in bacteria?

Options:



1 % Fusion

- = Apomixes

- » DBudding

4 « Conjugation

Question Number : 52 Question Id : 321011927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 53 Question Id : 321011928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following bacteria cannot survive in the presence of air?

Options:
1 % Aerobic

» % Facultative anaerobic

-  Obligate anaerobic

4 % Facultative aerobic

Question Number : 53 Question Id : 321011928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 54 Question Id : 321011929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a Gram-ve bacterium?

Options:
, % Staphylococcus

5 % Streptococcus

- w Mycobacterium

4 o E. Coli

Question Number : 54 Question Id : 321011929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 55 Question Id : 321011930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a Gram + ve bacteria?

Options:



, » Campylobacter

Bordetella

P
#

3 « Clostridium

i

Chlamydia

Question Number : 55 Question Id : 321011930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 56 Question Id : 321011931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is a bacteriophage?

Options:

1 #% A bacterium that attacks virus

- % A bacterium that attacks human beings

= « A virus that attacks bacteria

4, % Avirus that attacks human beings

Question Number : 56 Question Id : 321011931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 57 Question Id : 321011932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a chain-shaped bacteria?

Options:
1 % Lactobacilli

o o Streptococci

% % Nocardia

4 % Pneumococci

Question Number : 57 Question Id : 321011932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 58 Question Id : 321011933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following types of bacteria lacks the cell wall?

Options:



, » Mycobacterium

o o Mycoplasma

- » Hemophilic

, % Chlamydia

Question Number : 58 Question Id : 321011933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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o  FTSHIAT=AT

Question Number : 59 Question Id : 321011934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are the most common oral anaerobic bacteria that cause tooth decay?

Options:
|« Streptococct

- u Staphylococci

- » Propionibacterium

4 % DBactericides

Question Number : 59 Question Id : 321011934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 60 Question Id : 321011935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of these involves mere circulation of bacteria in the blood without causing infection?
Options:

1 « Bacteremia

5 u Septicemia

5 % Hyperemia

, = Conjugation

Question Number : 60 Question Id : 321011935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 61 Question Id : 321011936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The infection of blood caused by the bacteria is known as:

Options:



1 % DBacteremia
5 o Septicemia

- w Congestion

4 = Hyperemia

Question Number : 61 Question Id : 321011936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1%%
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o ® mm
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Question Number : 62 Question Id : 321011937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following bacteria causes trachoma in human beings?

Options:
1 % Antinomies

o o Chlamydia

- » Propionibacterium

4  Mycoplasma

Question Number : 62 Question Id : 321011937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 63 Question Id : 321011938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The condition of ‘lockjaw’ is observed in which of the following diseases?

Options:
1« Tetanus

> % Actinomycosis

=z % Tuberculosis

4 % Leprosy

Question Number : 63 Question Id : 321011938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 64 Question Id : 321011939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following bacteria causes diphtheria?

Options:



1 % Bacillus
- % Antinomies

o o Corynebacterium

4 % Enterococci

Question Number : 64 Question Id : 321011939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 65 Question Id : 321011940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following bacteria causes gas gangrene?

Options:
, w» Corynebacterium

- % Antinomies
= % Salmonella

4 « Clostridium

Question Number : 65 Question Id : 321011940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 66 Question Id : 321011941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Food poisoning or botulism is caused by which of the following bacteria?
Options:

, + Clostridium sps

- % Salmonella sps

- u Staphylococcus sps

4 % E.colisps

Question Number : 66 Question Id : 321011941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 67 Question Id : 321011942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a pleomorphic bacterium?
Options:

1 % Clostridium



> w Chlamydia

- u Corynebacterium

4  Mycoplasma

Question Number : 67 Question Id : 321011942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 68 Question Id : 321011943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following microbes is an acid-fast bacillus?

Options:
, w» Corynebacterium

- % Salmonella
z % E.coli

4  Mycobacterium

Question Number : 68 Question Id : 321011943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 69 Question Id : 321011944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Alpha hemolysis occurs in which of the following bacteria?

Options:

. Staphylococcus pneumonia

> u Staphylococcus epidermidis

= % Staphylococcus aureus

4 % Streptococcus pyogenes

Question Number : 69 Question Id : 321011944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 70 Question Id : 321011945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Beta haemolysis occurs in which of the following bacteria?
Options:

, w S.pneumoniae



5 w S.epidermidis

= % 5. aureus

4 S.pyogenes

Question Number : 70 Question Id : 321011945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 71 Question Id : 321011946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 71 Question Id : 321011946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following microbes can cause blindness?
Options:

1 % Borrelia vincentii



-  Chlamydia

- u Corynebacterium

4, # Mycobacterium

Question Number : 72 Question Id : 321011947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following bacteria causes enteric fever?

Options:
, w Helicobacter pylori

> u Campylobacter jejuni

% % Clostridium tetani

4 Salmonella typhi

Question Number : 72 Question Id : 321011947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrtalT § ¥ Hiaar SR F9=aT #T HR0T 2T 27

Options:
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Question Number : 73 Question Id : 321011948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4 % TCIEAHES

Question Number : 73 Question Id : 321011948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following bacterial strains are resistant to methicillin?

Options:

, = Streptococci

-  Staphylococci

= % Salmonella

4 % Antinomies

Question Number : 74 Question Id : 321011949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following bacterial strains are resistant to vancomycin?

Options:
, « Staphylococci

- % Streptococcei

=z % Salmonella

4 % Actinomyces

Question Number : 74 Question Id : 321011949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 75 Question Id : 321011950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sputum test is done for the diagnosis of which of the following diseases?

Options:
, % Typhoid

- % Malaria
3¢ IB

4 % Cholera

Question Number : 75 Question Id : 321011950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 76 Question Id : 321011951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of the term nosocomial infections?
Options:

, = Infections acquired through nose



> u Infections acquired through droplets

- » Community-acquired infections

4 « Hospital-acquired infections

Question Number : 76 Question Id : 321011951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 77 Question Id : 321011952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Dark-field microscopy is done for observing which of the following microbes?
Options:

1 % Viruses

- w Fungi

= o Spirochetes

4 = -Algae

Question Number : 77 Question Id : 321011952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 78 Question Id : 321011953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the correct full form of PCR in the context of systemic bacteriology?
Options:
1 Polymerase Chain Reaction

- u Polymerase Chill Reaction

= % Polymerase Chain Relaxation

, = Polymerase Child reaction

Question Number : 78 Question Id : 321011953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 79 Question Id : 321011954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the correct full form of ELISA?
Options:

, + Enzyme-linked immunosorbent assay



> w Enzyme-linked immunosorbent analysis

5 % Enzyme like important assay

, = Enzyme link involved assay

Question Number : 79 Question Id : 321011954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 80 Question Id : 321011955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The certain time period during which a microorganism remains in a dormant/inactive stage is known as:

Options:
; ® Dormancy

- % Hibernation

= o Latent period

, = Inactive period

Question Number : 80 Question Id : 321011955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 81 Question Id : 321011956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Stepladder type of pyrexia is seen in which of the following diseases?

Options:
i, B B

- o lyphoid
- % Malaria

4, = Syphilis

Question Number : 81 Question Id : 321011956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 82 Question Id : 321011957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 82 Question Id : 321011957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a sexually transmitted disease?

Options:
. w Syphilis

- % Gonorrhea

5  Lyme disease

4 % HIV

Question Number : 83 Question Id : 321011958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following microbes is eukaryotic?

Options:
1 % Salmonella

> u Staphylococci

- % Actinomyces

4« Aspergillus

Question Number : 83 Question Id : 321011958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



4 v TESEE

Question Number : 84 Question Id : 321011959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Aspergillus flavus affects which of the following organs?

Options:
| % Lungs

] Heart
3 « Liver

4 # Spleen

Question Number : 84 Question Id : 321011959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 85 Question Id : 321011960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a prokaryotic organism?

Options:



1 % Plasmodium
Aspergillus
% % Penicillium notatum

» Staphylococci

Question Number : 85 Question Id : 321011960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 86 Question Id : 321011961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What are prions?

Options:
1 % Viruses with DNA

- % Viruses with RNA

o o Viruses with protein and without DNA/RNA

, w Viruses without protein and with DNA/RNA

Question Number : 86 Question Id : 321011961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 87 Question Id : 321011962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a zoonotic viral disease?

Options:
. + Nipah virus infection

Polio

P
o

Measles

w
&

Mumps

Question Number : 87 Question Id : 321011962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 88 Question Id : 321011963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of these causes chickenpox?

Options:



1 % DBacteria
Fungi

3 o Virus

i

4 # Protozoa

Question Number : 88 Question Id : 321011963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 89 Question Id : 321011964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following blood cells are affected by the malarial parasite?

Options:
| % WBCs

- % Platelets
s  RBCs

4 % Plasma cells

Question Number : 89 Question Id : 321011964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 = %aﬁ'maﬂ'ﬁ}ﬂ




> % TolgelT
5 TSl T IR

4 % TOIT=HT HITLT

Question Number : 90 Question Id : 321011965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following blood cells are affected by the dengue virus?

Options:
i ®# RBCs

> & WBCs
=z % Plasma cells

4 « Platelets

Question Number : 90 Question Id : 321011965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 91 Question Id : 321011966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first rabies vaccine was discovered by:

Options:
1 % Edward Jenner

> « Louis Pasteur



=z % Robert Koch

4 % A.V. Leeuwenhoek

Question Number : 91 Question Id : 321011966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 321011967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The type of immunity that is naturally present in our body since birth is known as:
Options:

i Innate immunity

- » Native immunity

- » Acquired immunity

, % Herd immunity

Question Number : 92 Question Id : 321011967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 93 Question Id : 321011968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an autoimmune disease?

Options:
, = Diabetes mellitus type 2

-  Myasthenia gravis

- % Hypertension

4 = Typhoid

Question Number : 93 Question Id : 321011968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 94 Question Id : 321011969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Blood transfusion reactions are the examples of which of the following types of hypersensitivities?

Options:
| % Typel

5 o Type Il



5 » Typelll

4 % Type IV

Question Number : 94 Question Id : 321011969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 95 Question Id : 321011970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the most opportunistic microorganism?

Options:
, » Chlamydia

- « Candida

_— Mycobacteria

4 % Salmonella

Question Number : 95 Question Id : 321011970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 96 Question Id : 321011971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Helper cells, suppressor cells and cytotoxic cells are derived from:

Options:
1 % Bcells

> « T cells
s &8 RBC

4 % Plasma cells

Question Number : 96 Question Id : 321011971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 97 Question Id : 321011972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which type of immunity is provided by B cells?
Options:

, w» Herd immunity

- % Native immunity

- % Innate immunity



4  Humoral immunity

Question Number : 97 Question Id : 321011972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 98 Question Id : 321011973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which type of immunity is provided by T cells?
Options:

, w Innate immunity

> % Acquired immunity

5 o Cell mediated immunity

, w Humoral immunity

Question Number : 98 Question Id : 321011973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 99 Question Id : 321011974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Asthma and atopy are the examples of which type of hypersensitivity?

Options:
L ¥ Typel

> % Lypell
5 % Type III

4 % LypelV

Question Number : 99 Question Id : 321011974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 100 Question Id : 321011975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Anaphylactic shock is an example of which of the following types of hypersensitivity reactions?
Options:

1 o Type 1



5w Iype3l

4 % Tvpe 4

Question Number : 100 Question Id : 321011975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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General Aptitude

Section Id : 32101116
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 32101130
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 321011976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the full form of CFL?
Options:

| % Compressed Fluorescent lamp

o % Crystal Fluorescent lamp



-  Compact Fluorescent lamp

4 % Cool Fluorescent lamp

Question Number : 101 Question Id : 321011976 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

CFL % 9oT &5 &7 27

Options:

, » Compressed fluorescent lamp (FUTE FEIET T)
, « Crystal fluorescent lamp (fFFeer FeiRde =)
. » Compact fluorescent lamp (FIFiFe FARIEE =)

Cool fluorescent lamp (F& FARIIC o)

4 ®

Question Number : 102 Question Id : 321011977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Currently who is the Defense Minister of India?

Options:
, % Sushma Swaraj

Rajnath singh
= « Nirmala Sitharaman

4 % Smriti irani

Question Number : 102 Question 1d : 321011977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 103 Question Id : 321011978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the nearest planet of Sun?

Options:
1 ® Mars

- % Earth

» Mercury

4 ® Venus

Question Number : 103 Question Id : 321011978 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 104 Question Id : 321011979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is latitude 23%2° N, in the Northern Hemisphere is called?

Options:
, % Tropic of Capricorn

- % Antarctic Circle



5 o Lropic of Cancer

4 % Arctic Circle

Question Number : 104 Question 1d : 321011979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 105 Question 1d : 321011980 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ant bites, injects which acidic liquid?
Options:

1 % Acetic acid

> % Ascorbic acid
% « formic acid

4 % Tartaric acid

Question Number : 105 Question 1d : 321011980 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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4 % FEfA% Ufds
Sub-Section Number: 2
Sub-Section 1d: 32101131
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 321011981 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word from the alternatives which is analogues to the given terms:

Kilogram, Pound, Gram.
Options:

, « Decigram

5 % Angstroms
=z % Micro meter

4 % Joules

Question Number : 106 Question Id : 321011981 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 107 Question 1d : 321011982 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Read the question and answer from the given information:

Statement:
1. Some Crayons are Pencils.
2. All the Pencils are Pastels

conclusions
1. All the Pastels are Pencils
2. Some of the Crayons are Pastels
Options:
, = Only (1) conclusion follows

o o Only (2) conclusion follows

3 ® Neither (1) or (2) follows

4 Both (1) and (2) follows

Question Number : 107 Question Id : 321011982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 321011983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain code JUTE is written as QFGV, Then how the word “WALK’ could be written in that code language?

Options:
, ® DCGP

5> « DZOP
s % ZCTK

4 % OKUR

Question Number : 108 Question 1d : 321011983 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T = FF 9T H, JUTE &Fr QFGV F §9 & /@ J1a7 &, 35 F1F 8 7 WALK o= 3 B

SATTT?
Options:

, « DCGP
. « DZOP
2 ® ZCTK

4 ® OKUR

Question Number : 109 Question Id : 321011984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many triangles are there in the following figure?

X

P

Options:
1. ® 16



Question Number : 109 Question Id : 321011984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

> v 20

Question Number : 110 Question Id : 321011985 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following Venn diagram shows information about number of persons who like variety of types of Chocolates
produced by company ZXYX during a survey in the school LMN

How many students like chocolates of type A and B but not C?
Options:

1 ® 15

o W 3

o ® 16

4. ¢ 12



Question Number : 110 Question 1d : 321011985 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 111 Question Id : 321011986 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figure carefully. There is an analogues relation between the first and second pairs. Choose the
missing figures from the alternatives such that they form pairs.

Options:




Question Number : 111 Question 1d : 321011986 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question 1d : 321011987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What would be the missing term in the following series.

3, 15.150, 2250, 2, 1125000
Options:
1 % 40000

5> « 45000
s % 36000

4 % 30000

Question Number : 112 Question 1d : 321011987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Frafaf@a 4o 7 oca 9 F=2r gem?

3, 15,150, 2250, ?, 1125000
Options:

. % 40000
2_J'4EDDD
- % 36000

., = 30000

Question Number : 113 Question Id : 321011988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At present. the ratio of the ages of Karthik and Varun is 5 : 6. After 6 vears, Karthik’s age will be 26 vears. What is
Varun’s age at present?

Options:
i, B 20

> o 24



Question Number : 113 Question 1d : 321011988 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

T 24

Question Number : 114 Question Id : 321011989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If MINER can be written as 13914518, how can RULE be written?

Options:
1 & 1735724

> % 1810962
5 o 1821125

4 % 192936

Question Number : 114 Question Id : 321011989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IfE T E 9T # MINER T 13914518 for@r 31 @ar g, ar 39T &2 § RULE =1 & forgr =
HeFaT 87

Options:
. % 1735724
o % 1810962

2 v 1821125



L ® 192936

Question Number : 115 Question Id : 321011990 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If L stands for — . M stands for —. N stands for =, P stands for =,
then what would be the result of the following expression
‘40NZL160P40M2077

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1 160

- 140
= &0

4 100

Question Number : 115 Question Id : 321011990 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I L, + & AF0T = g M, - F @Feg Far g, N, x # FFeg #=ar g, 3R P, + # A
FIT g, ar aeRa s & AT 47 gR?

40N2L160P40M20

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

. 160

> 140
z 80

. 100

Sub-Section Number: 3
Sub-Section 1d: 32101132
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 321011991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If 50% of (a—b) = 30% of (a+ b). then what percent of a is b ?

Options:
% 20%

L v 25%
T W 30%}

T 350.-%'

Question Number : 116 Question Id : 321011991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IfE (a—b) FT50% = (a+ b)FT 30%, ar a, b F Fraer wfaea &2

Options:

Question Number : 117 Question Id : 321011992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifx:y =3:4 ,then (4x+ by):(bx— 2y) is:

Options:

1. 7

Question Number : 117 Question 1d : 321011992 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
afg x:y=3:4, @ (Ax+5y):(5x—2y) &

Options:
32

19

Question Number : 118 Question Id : 321011993 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ofg V32 =729, ar n = AN &
Options:

1 * 5
> & 8

4 v 12

Question Number : 118 Question Id : 321011993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If v32=729 ,then value ofn is:

Options:
1 = 6

Question Number : 119 Question 1d : 321011994 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Alice purchased a laptop at 1% th of its selling price and sold it at 8% more than its selling price. Then the percentage of
gain is:

Options:

. % 15%
- v 20%

L% 25%

Question Number : 119 Question Id : 321011994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

oferm & v ouel s R AEE % - Hed W @ler AR oW sEe R meT § 8% 3w e W
=Tl giderd | AT FHriAe?

Options:

Question Number : 120 Question Id : 321011995 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Allen and Benny together can complete a particular work in 4 days. If Allen alone can complete the same work in 12
days, then in how many days can Benny alone complete that work?

Options:

, O days

5 ® 7 days

5 ®» & days

4 = 10 days

Question Number : 120 Question Id : 321011995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tod AR ST U wrvy Ao et are e # 4 o # T Y H@ehd 2| Ifa el Tele 39T I
12 foF & U I Twar g, A 9 e Fad G F 57 W ) W awar 22

Options:

L v 6 feF
> % 7 e
s« 8 Bt
4= 10 R

Question Number : 121 Question 1d : 321011996 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Alexa travels from the town A to town B at 30 km/hr and comes back to the starting point 70 km/hr. Then her
average speed during the whole journey is:

Options:
1 % 40 km/hr

e 42 km/hr
z % 46 km/hr

4 % 48 km/hr

Question Number : 121 Question Id : 321011996 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TIFET 2T A W 2T B I F BT 30 km/hr Fr T & ImSr =G € 3T 70 kmvhr Fr T ¥ IR
Rig o amw el g1 9ff I & e 3w slwa = Fw R

Options:

1 = 40 km/hr

o 42 km/hr
=z % 46 km/hr

4 % 48 km/hr

Question Number : 122 Question Id : 321011997 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TR " & KL2IM| If& CK=2x+3 99T CM = 4x, x & AT AT S0

Options:
1 #® 1

Question Number : 122 Question Id : 321011997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following diagram. KL= [M.IfCK = 2x+ 3 and CM = 4x. find x.

-

Options:
1 & 1

o o 1.5

Question Number : 123 Question Id : 321011998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sum of money was put at simple interest at a certain rate for 3 years. Had it been put at 2% higher rate, it would have
fetched T 360 more. Then the sum is:

Options:

. % T 4000



- % 5000
- » T 6000

4 % T7000

Question Number : 123 Question Id : 321011998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T 3 I¥ F v v AfETT o W mrumer s W I A on) afe s 2% 3= g W fEm
4T g, A e # T 360 #9% greg g & #gu ¥ E

Options:

. % T4,000

, % 5,000
. v 36,000

4, % 7,000

Question Number : 124 Question Id : 321011999 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the measure of an interior angle of a regular polygon is 108. then the number of sides in the polygon is:

Options:
1. 3

2_237

Question Number : 124 Question 1d : 321011999 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
7 v foafie sgee & 3afte FI0T &7 A9 108 &, °F SgeT # e Fr T

Options:
1.« O

gu?



3_539

Question Number : 125 Question Id ;: 3210111000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The x -intercept and the y -intercept of the equation

3Xx—4y+ 12= 0 are of the form:
Options:
, w X-interceptis 3, y -intercept is 4

o w X-interceptis-3.y-interceptis 4

5 w X-interceptis 4, y -intercept is 3

4 « X-interceptis -4,y -intercept is 3

Question Number : 125 Question Id : 3210111000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frafafea v & « AR y— 378 W o=t g 79 A
3x—4y+12=0

Options:

x 3T I Fia=og fig 3 7, y 3087 X wa=og g 4 8

1 %

x 387 W Sfa=og fig -3 8 v 3T W afa=oe Rig 4 &

o 8

x ¥R AA=OE Rg 42 y s ufa=og Rig 3 8

o ®

x ¥eT W 9fa=oE g 4 8, y T W yla=Se Rg 3 7

4.



